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SSC CGL Tier-2 Sunday English Mega Quiz

Q1. Identify the segment in the sentence, which contains the grammatical error.

For the long-term strength of the economy the limit of corporate stock buybacks is a potential solution.
(a) is a potential solution

(b) strength of the economy

(c) limit of corporate stock buybacks

(d) For the long term

Q2. Identify the segment in the sentence, which contains the grammatical error.
We are witnessing the worse level of income inequality in decades.

(a) in decades

(b) the worse level of

(c) income inequality

(d) are witnessing

Q3. Select the most appropriate meaning of the given idiom.
To pigeonhole

(a) to blindly accept someone

(b) to typecast someone

(c) to call someone names

(d) to hurriedly reject someone

Q4. Select the word, which means the same as the group of words given.

A person claiming to be superior in culture and intellect to others

(a) patrician 12 Months Subscription
(b) highbrow
(c) elite

(d) noble

Q5. Select the wrongly spelt word. S S C

(a) contiguous
Useful for CGL, CHSL & others

TEST PACK

(b) confirmed
(c) confarmist
(d) contagious
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Q6. Select the antonym of the given word.
SEVER

(a) equip

(b) trim

(c) keep

(d) unite

Directions (7-8): Improve the bracketed part of the sentence.

Q7. Genetic influx from Central Asia in the Bronze Age was strongly male-driven, consistent with
the patriarchal social structure (attributing to the Indo-European) pastoralist society.

(a) to be attributed to the Indo-European

(b) No improvement

(c) attributed to the Indo-European

(d) attributed by the Indo-European

Q8. A phenomenon called the polar vortex has hit central and eastern parts of the United States. It
has brought with it snow, brutally cold temperatures and (potentially life-threatening wind chill).
(a) potentially life-threaten windy chills

(b) No improvement

(c) potentially life-threatened wind chill

(d) potential life-threatening wind chill

Q9. Select the antonym of the given word.
DYE

(a) blend

(b) bleach

(c) wash

(d) live

Q10. Select the most appropriate meaning of the given idiom.
To hold a brief for

(a) to support someone’s cause

(b) to write a speech for someone

(c) to upset someone’s campaign

(d) to wait for someone

Directions (11-13): Improve the bracketed part of the sentence.

Q11. Thirteen miners (were trapped inside a coal mine) due to flooding from a nearby river
yesterday.

(a) were trapped into a coal mine

(b) No substitution required

(c) have been trapped inside a coal mine

(d) trapped inside a coal mine

2 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q12. This is the first time (anybody have explored into this part) of the country.
(a) anybody has explored this part

(b) anybody has explored into this part

(c) No substitution required

(d) anybody have explored this part

Q13. The cause of the disaster (has not yet known) but an enquiry has been set up to find out what
happened.

(a) have not yet been known

(b) No substitution required

(c) was not yet known

(d) is not yet known

Directions (14-15): Identify the segment in the sentence, which contains the grammatical error.

Q14. To my point of view he should not have behaved in such a manner.
(a) should not have

(b) behaved

(c) To my point of view

(d) in such a manner

Q15. The old man climbed seven floors with hardly no effort at all.
(a) climbed

(b) atall

(c) The old man

(d) hardly no effort

Directions (16-17): Select the most appropriate word for the given group of words.

Q16. A large bound bundle of paper, hay or cotton
(a) barrel

(b) bale SSC CHSL
(<) gale TIER-I

(d) cache
Memory Based Package

Q17. The base frame of a car or other wheeled vehicle + Based on Papers of
(a) fuselage 17" Mar. 2020

(b) bonnet + 1 Full Length Mock
(c) chassis

(d) cockpit
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Q18. Select he synonym of the given word.
RADICAL

(a) trivial

(b) absolute

(c) minor

(d) moderate

Q19. Select the most appropriate meaning of the given idiom.
To give the slip

(a) to keep low

(b) to escape

(c) to hit someone

(d) to hide

Q20. Select the wrongly spelt word.
(a) violin

(b) visionary

(c) vecious

(d) voyage

Directions (21-30): Out of the four alternatives, choose the one which best expresses the meaning
of the given word.

Q21. Defray
(a) Earn

(b) Leave
(c) Declaim
(d) Pay

Q22. Eclat
(a) Haziness
(b) Brilliance
(c) Puzzle
(d) Irritate

Q23. Galore
(a) Sparse
(b) Coward
(c) Ample
(d) Rough
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Q24. Peculate
(a) Defraud
(b) Outburst
(c) Surprise
(d) Delay

Q25. Rote

(a) ignorance

(b) memorization
(c) punishment
(d) expenses

Q26. Placebo
(a) Ancestor
(b) Thrift

(c) Tranquilizer
(d) Parole

Q27.Unctuous
(a) Flattering
(b) Helpless

(c) Shy

(d) Faultless

Q28. Drivel
(a) Intelligent
(b) Blather
() Judicious
(d) Sane

Q29. Cozen
(a) Revolt

(b) Bury
(c) Cheat 2 Months Subscription

(d) Care

74\

Q30. Cadge
&) donate ALL EXAM

(c) Evade BANK | SSC | TEACHING & OTHERS

(d) Gather
TEST PACK
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